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Problem 2 :

Thinking of RIP2 as the disk PCo, 1) /v
,

where - identifies anti-

podal points in the bounday ,
and let U = D(0

,
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ther U
,
V are open , they cover RIP2

,
U is contractible

,
V-$t and

UnV-$7. The reduced M
.
V

sequence
reads :

O >Hz(RP3)>Helunv) PcHn(V) <HulIRP2 -O

where I maps the generator of He (UnV) to 2 . the generator of H
, (V) *

so Hz (RIP2) = ked= 0
, Ha (IRIPH = cokend = </2

,
HolIRIH=2 and the rest

of the
groups

vanish.

a

* L +g visualization of why P(b) = 2ai
->

X nab
↓








